CTHO-W[I kKRB 1 44
;E
=
B mm
W1 E£E& W2 k&8 Je=®  CTHO6-WC] CTH10-WO CTH16-W CTH25-W[J
A 64.5 84.5 98 113
B 24 33 43 49
A A B2 7 10 11 15
I BN 1 21 30 32 35
e e 2 0.5 1 1 1.5
x
5 ) 5 kel ) ) D 125 17 21 215
CTH « L/ & « i .J & E 17.5 24.5 30 33
oF 16 %00%m | 22.4%% | 30150 32 158%
> M s M,
e T 2G1 - 23 - 33
G2 = 5 = 6
- 2G1 - 2G1 H 50 50 60 75
© O - J M8%1.25 | M10X1.5 | M10X1.5 |M12x1.75
[ I | 774
=] | ! o = | | <] LH 40 50 57 65
ol op) |oF of oo/ | oF M 10.5+0.1 | 15%+0.1 19+0.1 | 20.5+0.1
E ! LH E ! LH @E 12 +ng ::;‘. +8.018 ::i +g.018 :II Z +8.0]8
R 16.5 24.5 29.5 34.5
. S (#4) | CTHO6-VB | CTH10-VB | CTH16-VB | CTH25-VB
B : SCM440 (J§ BHB285~344
#E (RE ) T M8X1.0 | M12X15 | M14X1.5  M16X1.5
Joigf 0.13 kg 0.33 kg 0.52 kg 0.78 kg
MR CTWO06 CTW10 CTW16 CTW25
Fizse CTV06 CTV10 CTV16 CTV25
mm
WL %8 Jex®  CTHO6-WL CTH10-WL CTH16-WL CTH25-WL
A 152.5 184.5 200 213
B 24 33 43 49
A B2 14 20 22 30
T C 21 30 32 35
ﬁ D 12 16 20 20
— ¥¢ '[j \ N - 170'(:503 24'05004 300004 33000
= i ‘ J 0 oF 16 Y5012 22.4 o017 30 L7 32 198%
e« T 9G] = 23 = 33
s o G2 - 5 - 6
i K 2 2 2 2
N 0G1 L 135 160 170 180
° ‘ ,,J M 10.5+0.1 | 15%0.1 19+0.1 | 20.5+0.1
o )| N 10 14 15 16
Zi :/ ‘ DI oP 8 +g.015 12 +8.018 14 +g.018 16 +g.013
o | | oF R 16.5 24.5 29.5 34.5
E \ L S (#24) | CTHO06-VB | CTH10-VB | CTH16-VB | CTH25-VB
T M8X1.0 | M12Xx1.5 | M14X1.5 | M16X1.5
IR : SCM440 (3 FiHB285~344) R E 0.24 kg 0.58 kg 0.87 kg 1.25 kg
M CTWO06 CTW10 CTW16 CTW25
YL CTVO06 CTV10 CTV16 CTV25
mm
12 % # # CTH06-VB CTH10-VB CTH16-VB CTH25-VB
A 20 28 35 41
B 8 12 14 16
E N T oC 13 18 21 24
s D 9 11 13 15
% E 6 10 12 14
b oP 8 0% 12 2 14 20 161205
B A T M8X1.0 | M12Xx1.5 | M14X1.5 | M16X1.5
MR CTW06 CTW10 CTW16 CTW25
S CTV06 CTV10 CTV16 CTV25

1054




cTUOO-O e K8 35MPa
THfTE R EE. EAMNTRTHIE,
) T mm
Min. o1 ] st | CTWO6  CTW10 | CTW16  CTW25
o i *Z®  CTV06  CTVI0O  CTViée  CTV25
O e e i \ B1 24 33 43 49
- £ \j C1 21 30 32 35
- ‘ E 17.5 24.5 30 33
A of 166 | 22479 | 3078 | 324%
T e s 0G1 - 23 - 33
3 - G2 - 5 - 6
— K 2 2 2 2
ool @ 10.5+0.1 | 15%+0.1 | 19+0.1 | 20.5+0.1
z &‘f”f/ N 10 14 15 16
‘ oF ‘ oP1 3 +g.015 12 +g.o18 14 +g.018 16 +g.o18
E P2 11 17 22 26
51 14 19 22 25
TN ALEER, *EBEREEROBME 52 35 4 6 6
R  mw=EmR. EAERTREE, >3 U 22 Il e
- AT 4E < FE 2 14 M B T S 50F AT T M8X 1.0 M12X1.5 M14X1.5 M16X1.5
- U1 7.9 11.9 13.9 15.9
U2 12.5 18.5 23.5 27.5
v 1 C1 C1.5 C1.5
FEREIEED
REENRE. FE kEENRIEHLE
REAXZBRARAFTSOEBH ORI MATIEENLE, MR FKEBNHRMEHETIANESSHNE. GIEREERN, HiEEF
EEEAMINE KRS, WHERI AR PEHENTF TRPEATERENIK.
FHATREENRE. REORUERER, BE0EMRIRE (CTHO _— =
VB), FE0E EF L i MR SE. U R
CTW06. CTVO06 1.6X107 kg-m?

WerEst Uz e 847 R ~f 2 & ] 45 CTW10. CTV10 5.1x1073 kg-m?
CTWO06. CTV06 M 8 30 N-m CTW16. CTV16 8.5X107 kg-m?
CTW10. CTV10 M12 100 N-m CTW25. CTV25 1.4X107? kg-m?
CTW16. CTV16 M14 150 N-m
CTW25. CTV25 M16 240 N-m

HEM R EENIRMERE (35)
RENEER TR AR
e iR FE YA B CTHO06-W1. CTHO6-W2 | 6.1 X10°kg-m?
kR ERIE R RET S BB, — CTH10-W1.CTH10-W2 = 2.6 X10*kg-m?
BEATRRRAOREES EAERE, DEEFZICHENEET CTH16-W1.CTH16-W2 | 5.5 X10*kg-m?
KBS (E L. CTH25-W1. CTH25-W2 | 1.14X10° kg-m?
MO0 BB R B R B AR EATR2 (BE TH) KR SllalVen 1ol AU b
CTH10-WL 3.5 X102 kg-m?
= = fnc B
o 24 BAKE CTH16-WL 58 X107 kg-m?
MEARRE | et e H# CTH25-WL 9.5 X 10 kg-m?
CTW06. CTV06 03s 0.43 L/min | 0.91 L/min*
CTW10. CTV10 03s 1.23L/min | 2.41 L/min*
CTW16. CTV16 0.4s 148 L/min | 3.39 L/min*
CTW25. CTV25 045 2.70 L/min | 5.60 L/min*

¥ R AEE model CTW

X F CAD XU THEEHNFEHR, ERIHETFMT

www.pascaleng.co.jp

BN R R

cra

1055





